	Name: ____________________________	Quick 10 – week 1
	1
8x7 =_____

1/3 of  £627 = _______

Convert 2.15pm to 24hr time = _________

Round 278 to n.100 = 
_______

How many cm in 2.5m?
_________

How many minutes in 9 hours? ____________

What is the sum of 82, 12 and 97? ________

Name a 2D shape with 8 sides? ____________

Give an example of a parallelogram.


2.8 ÷ 7 = _________
	2
14 x 3 = ____

¼ of 320g = ___________

Calculate duration between 0627 to 0911.
____________

Round 824,127 to n.1000
_____________

0.7 x 8 = ______


How many ml in a litre? ____________


How many degrees in a right angle?
____________




Properties of a cuboid?
______________
_____________
_____________
_____________

What is the difference between £418 and £372.80?



2.1 x100 = ______________
	3
Partition 8,472
_____________
_____________

156 x 7 = _____________

If 1litre of Diet Coke costs 60p, how much for 4 litres?


Find the product of 9 and 7
____________

X + 2 = 17
X = ______


360 ÷ ____ = 60

Convert 2309 to 12 hour time.
____________





How many months are there in 3.5 years? ____________

3.4 x 8 = _____________

How many minutes in 0.5 of an hour?
____________
	4
Share £2 exactly between 5 children.


52 ÷100 = ______

8.6 + 0.7 = ________

How many quarters in a 3 wholes?
____________

12 – 3.38 = ___________

8.32 ÷8 = ______

What is 6.3m in cm?
_______________
______________

Decrease 0.5litres by 200ml
_____________




2hrs 25 min is equal to how many minutes? 
	



How many edges does a triangular prism have? _______________
	5
Add 4 hundredths to 4.14
___________


Add 4 tenths to 73.18


Find 2/5 of £450
_____________

28p x 6 = _____________

125g + 50g + 72g = ___________

Add 4 to 6 squared. ____________

Decrease £4.64 by 70p ______________





Write 5/10 as a decimal fraction.
____________

3.2kg x 100 = _____________

	6
Write 13.84m to the nearest metre.
____________

Which coins add together to make 98p?
___________
___________
___________

83 x 5= _______

How many 5pences in £4?
____________

0.3 + 0.24 + 5.6 = _____________

A square has sides 6.7cm, what is the perimeter?
_____________





What number is 72 greater than 377?
____________
____________

29th May is a Tuesday, which day is 4th June?
____________

Find the area of a playground 23m long and 12 m wide?


Which is smaller?
0.18 or 1/5?

____________
	7
82 x 20 = _____

Write in figures, twelve thousand, four hundred and eleven?
_____________

4824 – 900 = ____________

The angles in a triangle always add up to 180 degrees. One angle is 50 degrees; one is 119 degrees, what is the size of the third angle? ________

1684 ÷ 4 = _____________

¼ of 12,000 = ______________

2 hours 25 mins + 45 mins = _____________

X= 7 and y = 6

7x + y = _______


1/8 as a decimal = ___________

10.4 – 2.37 = _________
	8
14 weeks = ________ days

1/3 of £75 = ____________

7 and a half minutes = _________ secs.

8309 + _____ = 10,000

0.78 x 9 = ______

How many right angles in 180 degrees?
____________

If 3x = 24
x = ________


5₃ = __________

4.465 + 0.15 = ___________

334 ÷ 100 = ____________
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